



Name: _____

Date: _____ Score: _____

$$(54 \div 6 + \frac{1}{6}) \times \frac{2}{3} =$$

$$(12 \div 4 - \frac{1}{4}) \times \frac{2}{5} =$$

$$(\frac{2}{3} - \frac{2}{3}) \times \frac{1}{2} - \frac{1}{2} =$$

$$\frac{2}{3} - \frac{3}{2}(\frac{3}{4} + \frac{3}{2}) =$$

$$55(\frac{2}{5} - \frac{1}{3}) \div 11 =$$

$$\frac{2}{5} + \frac{3}{2}(\frac{1}{2} + \frac{1}{2}) =$$

$$(66 \div 6 + \frac{1}{3}) \times \frac{1}{2} =$$

$$110(\frac{1}{5} - \frac{1}{4}) \div 11 =$$

$$(\frac{2}{5} - \frac{1}{4}) \times \frac{1}{2} + \frac{1}{3} =$$

$$(14 \div 2 + \frac{1}{2}) \times \frac{2}{3} =$$



Name: _____

Date: _____ Score: _____

$$(54 \div 6 + \frac{1}{6}) \times \frac{2}{3} = \frac{55}{9} = 6\frac{1}{9}$$

$$(12 \div 4 - \frac{1}{4}) \times \frac{2}{5} = \frac{11}{10} = 1\frac{1}{10}$$

$$(\frac{2}{3} - \frac{2}{3}) \times \frac{1}{2} - \frac{1}{2} = (-\frac{1}{2})$$

$$\frac{2}{3} - \frac{3}{2}(\frac{3}{4} + \frac{3}{2}) = (-\frac{65}{24}) = (-2\frac{17}{24})$$

$$55(\frac{2}{5} - \frac{1}{3}) \div 11 = \frac{1}{3}$$

$$\frac{2}{5} + \frac{3}{2}(\frac{1}{2} + \frac{1}{2}) = \frac{19}{10} = 1\frac{9}{10}$$

$$(66 \div 6 + \frac{1}{3}) \times \frac{1}{2} = \frac{17}{3} = 5\frac{2}{3}$$

$$110(\frac{1}{5} - \frac{1}{4}) \div 11 = (-\frac{1}{2})$$

$$(\frac{2}{5} - \frac{1}{4}) \times \frac{1}{2} + \frac{1}{3} = \frac{49}{120}$$

$$(14 \div 2 + \frac{1}{2}) \times \frac{2}{3} = 5$$